=2t/ ix

01 %A77He
1l o B

02 Oo|2A Hipdnt 4154

1 0|24 =i

2 AFYET 2%

3 A APIIe] Sgat AR

03 MaA| 7| gt il AP

1_A7lHolzt
2 ML 71 gt

o

3 AeA] shd A

4 5P 4 ARl T 44

04 ZLH-2| AL
1= AR
2 =2] Al

05 A7IFde| e 2AF A AENEA] 24
1 51 f22AF vpal DB 15

2 27hAMfekd W) askde] DB &

26
27

32

49



X [ MM A7IRe] 7 | st Rl

oF

3 AVHAO] 82T RA} 53
4 AR RS 2AT &
06 Al7Ipde| ster 7
171870 7
2_71Exy5F 78
3 MRk I
20 AbEo) Al ARl &
07 AE Y HAe| 88
1732 88
2 2] 89
gnka %
b2 97

Abstract 101



E2f/ xi

kedg
°

(3 2-1] AT

rg

(5 2-2] S5 AEPAEIA 7112 AT aok
(5 2-3] SR AeslIRe] 7l 24 Zat
(5 2-4) AP0 28 $8 B2Y

(% 3-1] AR 157] AP

B

[ 3-2] A& =24 L 7]12(1965~2014)

¢

(B 33] Mg 22

nie

B Hg 7J22H1965~2014)
[# 3-4] M3A] 4 814(2005~2014)

[E 3-5] A2A] S710Ed §%

[E 3-6] AI2A] 2R 3If
[H 3-7] MEA] ABPd A%
[E 3-8] SPdscl o2 o= 3

[H 3-9] AsPdguol] o2 I 4%
[E 3-10] R [ASFFEAHA o2 ¥ 743
[H 3-11] AEEA] 21AeH B 29
[E 5-1] HsEd 3=

[# 5-2] RARNS 1570 A7

(2 53] 7% ¢t &4

[E 5-4] =R

23
% 5-5] ok 73 2 £

14
16
17
18
2%
27
27

31
32
33

35

51

52

53

55



Xii [ MEA| A7 715t ey

ot

(% 56] PFxd 7 2 EA
(£ 57] 2ARIZY 7t B4
[# 58) 43 ¥ Y £

(£ 59 EF12d Y E4
[E 5-10] HAAAIZH 77F ) EA
[E 5-11] ©1e5x 7F 4 EA
(£ 512) 294 77t 3 E4

[E 5-13] €253 77H 1) EY

[ 5-14] 339 730 % 24

[E 5-18] 7103 AJEREA RAL %)

(2 5-19] LFH APeHesg 2}
[ 5-20] chHekd AEHEA] 2A} Bi8F
[& 521] Bh23¥ AEhEA A}

[ 522) BB MRS 2AL

(2 5-23] TWYRALS Hlaet e

[# 6-1) AR 715 o el ¢

=
o
S
)
I
5
ok,
o

J

n
=~
3
=

57

59

61
62

)

65

67

~]
N

8 ¥ 8 I



Z2t/ xiii

1-1] @74% BAE

2-1) *gotR sPel MR ol glo] a5k e A
27) 7 24 A el 712w
23] guie] A 4 2t 2

ZYA2E

3'1] }"1%}\] %—-L]HEﬂ oT o

HEH19657-2014)

1] R 29 50 BARY HE), 2 H(9)

4 5
42) P AP AR ¥ B

4-3) U2 GEo) BY B3 B4

4-4) EA] 2 T o A oM Aot AR wot

4-5] BGNo| EARZH Alslol] AR 4 Gl Tt st AmlA 43

(SWITCH ©Jajx] o}g)
4-6] BGN 7402 oS Bkt Lodz(Q2)A] B
5-1] F7hAMER] g2 2AL

SUEEEET

19

8 B

41
13

45
49

53

55

57

)



Xiv [ MEA| 72| 7| 5Tt e et

(23] 5-10] ¥APIARY 92T
[12] 5-11] WeEH g2%

(0% 512) 2% §=2T

(13 5-13] 8854 S2T

(13 5-14] 2884 §2T

[D22] 5-15] 2|3Fd S2%

(23] 5-16] 2RI 92E

(331 5-17] e 2=

[22] 5-18] 71238 AjERsiste

(23] 5-19] 23 Ageisge

[22] 5-20] Thekd AfERRISlE

[22] 5-21] 9k Aefiste

[22] 5-22] Bxl2)2x] AfEfisls

(29 6-1] £2-2EYI(BGN)2] 7id

[12] 6-2] =2] & 29o] #o] gl 71pak ZBiR|d
(23] 6-3] AE7te] AJERES:

(03] 6-4] 2E7710] AERES]

(23] 6-5] Shg77te] AYefEQ] T4

1
L)
5

stgziel ARl 2

61
62
63

&

67

69

70

A

76

85
85

3





